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Que.: 1. This question contains 30 very short answer type sub-questions. Answer each

question in ideal 10 words/one line. All questions are compulsory. Each question
carries 03 (three) marks.

T (1.1) 200 N T &6 50 T3, Fome 1 O wie 6 fa=ar & 71 0NF
o et 9 T R | TR | R R 7
A force of 200 N pulls a sledge ofimass 50 kg and overcomes a
frictional force of 40 N. What is the acceleration of the sledge ?

T (1.2) e A o aienfya = |

Define terminal velocity.
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32 (1.3)

T : (1.4)

g (1.5)

T (1.6)
W (1.7)
T (1.8)
T (1.9)
T (1.10)
T : (1.11)
T (1.12)

T=: (1.13)

3 (1.14)

M-2020/GS-llI

S W T 9o g uqre | TR B, 6 SHht ST, dties ik
Tfe I AT U9 B 7

When light is transmitted from one material to another, then what will be
the effect on its frequency, wavelength and speed ?

Th IFYTg T T fIRaT St o6 argaT o gHm Seehien 0T W@t # |
Write name of a non-metal having lustrous property similar to metals.
Frfafan & & wga It & gg=i

NH3, AICIS, Cl7, SnCl 4

identify the Lewis acids in the following :
NHS, AICIS, CI", SnCl "

PATEEIhHI 3R O-REHHI § gRgeH 88 = Y foafa |
Write the types of hydrogen bonding in P-nitrophenol and O-nitrophenol.

ITHES sl TR Hifse |

Define the transpiration.

QAo T ] 7

What is haemoglobin ?

a1 % gesiter vd o 8 gemeie e & am R |
Write the names of fat soluble and water soluble vitamins.
HIRIER ! TR =+ |

Define the compiler.

SART T 2 7

What is blog ?

§-rta % P o = g R |

List the different stages of e-governance.

T wftemw # yeares forg foow o gro wfoeenfoa g

4l+3l+?+21=13g
2 6 3 5

What value will replace the question mark in the following equation ?

1 .1 1 .2
4—+3-+2+2-=13%
R R -

afe Tl e REht Te9 &1 96% &, a9 e gfiwra fraT g9 2

If the cost price is 96% of the selling price, then what is the profit percentage ?
-
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AR U ¢ 450 T 28% + 280 1 45% |
Evaluate : 28% of 450 + 45% of 280.

@ T, dimeR e
NPCDCS is abbreviated form of !
S S H3HHYT %1 TR o !
The causative agent of Dengue fe\frer is

AR ARG ASHT 3T 8
Ayushman Bharat Yojana is the part of
T fase foam 2022 6 o w1 ot ¢
What was the theme of National Science Day 2022 7
|
S-Srenfieh! # e 1 F WGR Ll & 7
What is represented by gold color fin biotechnology ?
o g0 Fretia et ffeeet i wiEl difet & wm fafae |
Write names of five generations of launch vehicles developed by ISRO.

e St & Rt e S T A R 7

How is electric energy obtained fr<:)m oceanic energy ?
|

Sl YEE @ A A B 7
What do you mean by energy mar:lagement ?
STt G g St R ¥ S wewE ferd ® 7
How does energy conservation hélps in energy strategies ?
frefifes % of w0 ffe |
(i) IUCN (i) UNEP |
Write the full forms of the following :
|
i

(i) IUCN (i) UNEP
Had R =) aHeEd |

Explain the term sustainable development.
|

THIO] AT T BT R 7

What is nuclear energy ?

mmm@%mﬁﬁﬁwmw% ?

On what basis outer core of the earth is assumed to be liquid ?
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TH: (1.29) WIS FMR 7

What is an “Arkose” ?

W (1.30) ‘R W R 7

What is an “Ore” ?

T 2,56 W H 20 TR 39-U § | Vo T % I o HIeY W ST 50 Y=/5 ¥ 6

it gt | weft v e ¥ | wees W 05 (W) IR H R | (20x5=100)
This question contains 20 short answer type sub-questions. Answer each question

in ideal 50 words/5 to 6 lines. All questions are compulsory. Each question carries

05 (Five) marks.

Que.: 2.

T : (2.1)

T : (2.2)

TH: (2.3)

T (2.4)

W (2.5)

T : {(2.6)

T (2.7)

T : (2.8)

R T 5 T W |
Describe the phenomenon of Looming.

R -t 6 srumon f = w5t

Explain the concept of anti-sound.

Jifihiy fo@ves =t wfonfya Hifve | faeves sfifrn § = o= A &
Sl A BT § 7

Define nuclear fission. Why fission reaction produces large amount of energy ?

T98 1 Afuwan sgorn PR afenfya HRIC wd p, d T et § g
BN % T =am getegHl i HEAT Ay |
Define Hund's rule of maximum multiplicity and tell the minimum number
of electrons for pairing in p, d and f orbitals.

TgE W wa i feoroht AR |
Comment on AIDS briefly.
W HIRwR favre &t fafie e w e it |

Comment on different stages of mitosis cell division.

o dit % el 7 9o <RI |

Explain about first generation of computers.

Hrwer fufgan = § o swe w0 TEw § 7 3Ee HE S I serew
AR |

What is social media and its importance ? Give any two suitable examples.
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T : (2.9)

TE: (2.10)

T (2.11)

T : (2.12)

qH: (2.13)

T : (2.14)

¥ (2.15)

T (2.16)

T : (2.17)

T3 (2.18)

T (2.19)

W : (2.20)
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T G Bl 10% T % 91 27.50%. T &= T AT | A R 26.75%.

=T T e, awmgﬁmyﬁmw@m?

A book was sold for Rs. 27.50 with a profit of 10%. If it were sold for
Rs. 25.75, then what would have been the percentage of profit or loss ?

TH 9 | 50p,25p3ﬂ110p%ﬁﬁ%5 9:4 % UG 4 &, T 206 .
g Imw%ﬁaﬁ%?ﬁmw%m

A bagcontains 50 p,25pand 10p coms in the ratio 5 : 9 : 4, amounting to
Rs. 206. Find the number of coins of each type.

TS T Q7 aed 8 ? e (Jugmea) fhay TR S aar 8 ?
Define communicable diseases andicomment on types of immunity.
WWWW(HBSK)@% ? 39 e Fe¥l W WRIY B |

Write short note on Rashtriya Bal Svasthya Karyakram (RBSK) and its aims
and objectives.

Wgﬁw@aﬁ)%Wﬁm T (HTR) 3R g5 (F18) FHM
SiEAT & 1 W § ¢

What do you understand by soft and hard artificial intelligence in using
artificial intelligence ?

Ui G FA g, FUETE R Forg 1 )@ T o Wi fereor iR |

Describe briefly the work responsibilities done by National Remote Sensing
Centre, Hyderabad.

ﬁtﬁa%aﬁ@hma;r&m%?l

What is the principle of working of solar cell ?

a3t -urEles S @l § 3 TR |

Differentiate between conventional and non-conventional sources of energy.
TeISI-TERE S T & it qoiA S |

Describe in brief about photochemical smog.

TR o Samatt qen SF e T Atk # fafl |

Write in short about ecosystem services and their valuation.

a5 3R 3ToET o T AR 7
What is the difterence between weathering and erosion ?

‘e weg TRy W |

Define term "mineral”.
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T ;3. T WA H 10 G Ialla IT-eH 3 | WAE W ok I g TG Weg, HIMT 200 N § |

Que. : 3.

R 7w a2 | vl W 11 (TAR) AR H R | (10x11=110)

This question contains 10 long answer type sub-questions. Answer each question in
ideal 200 words. All questions are compulsory. Each question carries 11 (eleven) marks.

Y (3.1) Ig TrEh, I G e Sfd b gerel % Uit YRR & qe 6 |
Compare in detail the properties of ferromagnetic, paramagnetic and
diamagnetic materials.

¥ (3.2) VSEPR Rrgia 71 2 ? 39 fgia % SMUR W CH,, NH, T H,0 Fuaii st
arpfa i feraemm hifsg |
What is VSEPR theory ? Discuss the shapes of CH o NH3 and H2O molecules
on the basis of this theory.

T (3.3) WRRET 9 W1 R 7 79 HeH! hl AAIE | Fea gferan v g aviq
I |

What is immune system ? Give its components. Describe innate immunity
in detail.

UH: (3.4) TIShETE ST GHeeaR & SYFM 3 %14l Tl gassy |

Explain the uses and applications of Microsoft Office Software.

T (3.5) SATCHECAT HU aTeh 50 Wigendl < 3ng = € 78 } | 3@ wigen 6 @
307 1 =HIRIT |

AR R AY £ 15-20 20-25 25-30 30--35 35-40 40-45 45-50 50-55 55-60 60-65
wfgendiEgem @ s 10 8 6 4 7 3 2 2 0
N =50

The ages of 50 women who have committed suicide is given below. Find out the average
age of the women from it.

Age of women In years: 15-20 2025 25-30 30-35 35-40 40-45 45-50 50-55 55-60 60-65
No. of women : 8 10 8 6 4 7 3 2 2 0

N =50



T31: (3.6)

¥ (3.7)

I : (3.8)

¥ (3.9)

T¥: (3.10)
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Y, (SH TF Wifvs — 19 W witre fewft 3 |
Give short comments on Ayush, AIDS and Covid-19.

|
. . |
WRATT Jfafer FrfsedT st wmiores et 1 T Hifig |
Analyze the social dimensions of lnd:ia Space Programmes.
Tsfr St +fifer < wries T Terfs et ) = iR |
Discuss key socio-political factors influencing National Energy Policy.

- 3 e wat w7 Rrege ool Bl |

Describe in detail about the major thr:eats of biodiversity loss.

g7 fmior Y wuifem S Gt ! 90w |
1
Describe the factors affecting soil formation.




